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: for the questions
3 (@) 1f T is the period of the function £,
then write the period of f (ax), where
a#0. i 1
(b) write two Dirichlet condi'tions for
Fourier expansiont fa function: )
{C} Find a FOLIl'iBI' series or th fuﬂCthn
fly=x*in the interval 0, 27 7
( Turm over )

P



(2)

Or

er seri .
f@=xsinx in (-5 n‘;s for the function

2. (a) Write the '
al
(i) L{cos3t}. . value of (i L{t} and
(b) Find L{cos? t}. ‘ 1+1=2
€ I fl§=L{F ‘ : 2
U] 8
L{e“F(t) = f (s?a):- then. prove that
. Or 4
Find L{te® sinat}.
(d) Find any three of
of th, "
(i) L{sinh? g e following :  4x3=12
(@) Lie+2®)
(iii) L{e3t siﬁét}
(iv) L{tcos? t}
(v) L{t? cosat} .
8. (a) Write the value of ) -1
(i) L'I{SL“}_
B 1+1=2
(b) Find L‘l{_&
, ‘(S+2)2 +62 . )
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(3)

(c) Find any two of the following :

S+3)
fi) It ‘“S}

i) I 1{ e—as } 4
s-4%

() L"l{___—-——s -

(w) L l{log%—}%

urier cosine " integral

4. (@) Write the Fo
' formula. 21
(b) Define Fourier transform of & function. 1
(c) State and prove the jinear property of
' Fourier transform.
Or, .
‘Find the Fourier sine transform of
. 2e~5* +5e72
@ Find‘ the Fourier éosine " transform
of e, 8
Or
Find the Fourier transform of
F= o5, 08%<
( Turn Over )

P23/821




(4)

(e) Find the Fourier transform of

1 |
—, f < |

fy={gg for lxl<a ;
0, for |x|>a .

1
Or -
Find the Fourier transform of ' |

_[sinx, 0<x< T
Sflx) = .
0 , otherwise

() Write the formula for inverse Fourier
transform of a function f (x). 2

{
2 ;
S. (@) Write the value of /97y 3 |
ot2
62
(b) Find the value of 1)9°Y . 2
dx2

(c) Solve any two of the fOllOWi_ng : | 6x2=12
g f:—é“;,%ﬂ“zt, Y0 =4, y(0) =2
(ii) %—}’-{-25;;: lbcosst,
\ Y0 =2 y(0)=o0 |
(i) t%*%”ty#q Y0 =3 y(0)=0 ;i
(iv) g%—'%%=l‘e_to0<x<1,t>0 |

a.l'ld Mx’O)._:x
* A A
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